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Instructions 8/9

Use blue or black ink or ball-point pen.

Fill in the boxes at the top of this page.

Write your answers in this combined question paper/answer book.
In Section A answer the questions in English.

In Section B answer the questions in Panjabi.

Write neatly and put down all the information you are asked to give.

10/11

Information

e The maximum mark for this paper is 35.

e Mark allocations are shown in brackets.

e You must not use a dictionary at any time during this test.

Total |_>

(Column 1)

Total
(Column 2)

TOTAL

—

Examiner’s Initials

H/S05/3681/RF 3681 IRF



2 LEAVE
MARGIN
BLANK

SECTION A

Questions and answers in English.

1  You read this notice in a school laboratory.

feg ust e &at
fer a9a fer § Wiz Hg' I |

(a) What are you asked to do?
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2 You see this e-mail message from Amardeep.

B Messagee [-1O[X]

Y
File  Edit View |Insert Format Tools Actions Help

[4]

fiprs g3,

nA¥ Af6g9ed Ha™ AdH fes I | 3a 99 <A
afent Aar | LA, ‘Har F913 € B JIdT |
Hor3 & nr faar 9 |

WHIE

(a) When is Amardeep’s birthday?

(1 mark)
(b) At what time will he cut the cake?

(1 mark)
(c) Who is doing the Bhangra show?

(1 mark)
(d) Who else is coming to the party?

(1 mark)

Turn over P
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3 You see this text message from Raminder.

H &% & Ag® &dt »i Aae! fa8fa AT et it 393 fana o5 |

Why can Raminder not go to school tomorrow?

She is not well.

Her grandmother is very ill.

She has a hospital appointment.

Write the letter of the correct answer in the box.
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Rams ot

4 A HeUTS T fefimr Ifenr feg Ure a9s uge J |

furg 3+t

WA 3% & TT | % HH ft € B3 &

fenrg A | fenrg gg3 <uhor Jfenr |

fenrg 951arg € 'Hoor Jdew g At | AQ

foR3e9 du e 95108 uds | I9eH He

3 ACH 3 UdI9™H &7 | A9 I3 YA IT |
HOUt3

L)

®) fenrg fam e A 2

(1 mark)

() yrge 9 fam 37 uds ?
............................................................................................................................................ .(.]...’;1.;;/;.)

(¥) ASA 3 YdoH far & &iz37 ?
............................................................................................................................................ .(.]...’;1.;;1.{.)
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5 IIoHI3 & f¥a ‘938 unw f3ng o3 J fAar <9 € rue At O5 |

ufast mae-fere
1. Ue

2.  AWA

3. EIH

4. 23959

5. dwg

6. THMI

7. ®A

8. Ry

ot mue-feAe

Grrags:-

(5 marks)

H/S05/3681/RF



6 3AT fagarls @ feHf3ae o oEtH-29% 2ue T |

femm fes ESICH A

vigHt Hase 596 9.00 3 11.00 =A
fefsam Hogeg 6 @6 1.30 3 3.00 =1
CEE] dige9 12 95 9.30 3 10.30 =
ATER AHES 16 95 1.00 3 2.30TH
Ut.Et gueg 18 9% 9.30 3 11.30 =A
farrs Ho9<9 27 86 1.30 3 3.30 A
Ut AHES 30 56 9.15 3 10.00 =H

®) 12 g5 3 fagz feHfsas T 2

®)

(7

@
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7 A uIHEy @ By w fEx fdmr uge I |

it A9T ufgee 2¥ifens Qs UAT &9¢ IF | HO
H3T A1 'fESnis 365 3 yget fidl femHt 993 oue
6 | HE videt 390 Sy & AKX J | I fus #
femer Y=gt € YdoH €Ye J6 | A9 397 2L 3
Jarst arE g93 oy I A9 Tl A Jeget 3 yarst
STH 9H d YA J¢ I& | HI I9 A1 993 e 2Hif<us
ST U6 UT JrI3EaT € Yda'H ST & &d1 IHe |

T G U |

foy :
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UIHEY & yfged IHifets au UAT &dt Ja< |

yIHe € Hi3T it § fJet fesHt 593 ure 75 |

UIHEY YA 39TH 993 Syt T |

UIHEY € fusT it 83 € Yaa'H SuE AT ade I6 |

UIHEY & Tt Al J99E BEST UAT J9¢ 6 |

UIHEY @ g /it 2Hifeus fawas adt aue |

(5 marks)
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8 3 St g9 feo ferfoa Sue 7 |

diest & yae™H

fer A% el & YagH o »iagsw § I | YauH
IHaE T 9% g JRar | AHFE S eA SR S J |
i5 TH UTA BT AEdl | SHicdMiG yET f93Tent
Aedr | ot 3 Ja3 € IGY A T IJ Ts | feae
froe 35 U3 7 |

B) Tt T YaeH ae d<ar ?
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10

9 TI&HIS ITS MUS HE UHE 88T 99 €A fgar J |

gct @8 fos B »uE €A3" &% dfdae 83F 9U3 UATY oger Jf |
fer &% At fAos olg ofdet O 3 H g erst § & fhs 8¢ of |

TIoHI3 221 B fos ot a9 UrAe a9 T ?

-
)

w3
J N C

3la €39 v 399 us 3T foy |

(1 mark)
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10

dAT-n'3 & WA
Af$99S9 § HAH 9™ IJaT | 30 I € &6 &% Il
Hi'T €t u=Rar | 33 gg3 J=41t 3 FI< Uz < <t Qie T
WI3TT § HAH €8 Aedr | I< € 9€39 We A<t |
SUHG T0 A<adr 3 UU & faas mraft |

(®) nféegee § AR fad fragr d<ar ? € dis fed |

(2 marks)

END OF TEST
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